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QUESTION ONE (COMPULSORY)

(a) Discuss the concept of consumer utility.

(b) Write short notes on the following:

i.
ii.
iii.
iv.
V.

c) Outline five assumption of a rational consumer

Indifference curves
Indifference map
Budget line
Consumer choice

Income consumption curve

d) Explain clearly the theory of production.

QUESTION TWO

(a) Explain what is meant by the term externality

(b) There are two main forms of externality. Explain

QUESTION THREE

(a) The following is a total revenue equation for a monopoly:

TR = 300Q — 2Q?

[5 marks]

[2 marks]
[3 marks]
[2 marks]
[2 marks]
[2 marks]

[5 marks]

[2 marks]

[5 marks]

[10 marks]

Where TR = revenue measured in million shillings, while Q = quantity measured in tonnes.

Required:

respectively

(b) Explain the following concepts:

Total revenue
Marginal revenue

Average revenue
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Calculate the total revenue received by the company at output 10 and 5 tonnes respectively

[4 marks]

Calculate the marginal revenue of the company at the output level of 10 and 5 tonnes

[4 marks]

[3 marks]
[2 marks]
[2 marks]
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QUESTION FOUR
(a) Highlight five features of a monopolistic market structure [5 marks]

(b) A firm in a monopolist competitive market makes normal profit in the long run. Discuss.
[10 marks]

QUESTION FIVE

(a) Market failure exists when the competitive outcome of markets is not satisfactory from the point of

view of society. Explain. [5 marks]
(b) Discuss any five causes of market failure. [10 marks]
QUESTION SIX

(a) The total cost function of a firm is TC = 100+ Q? + 5Q°

Where TC = cost measured in million shillings, while Q = quantity measured in tonnes.

Required:
i.  Calculate the total cost of the firm at output levels 6 and 9 tonnes respectively [4 marks]
ii.  Calculate the marginal cost of the firm at the output levels 5 and 10 tonnes respectively
[6 marks]
(b) What is meant by profit maximizing output [5 marks]
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